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... but using electron configurations to describe how aluminum bromide forms is a bit
cumbersome! Can we simplify the picture it?

s notation represents each VALENCE electron with a DOT drawn around the atomic
l.. Since the valence shell of an atom contains only "s" and "p" electrons, the maxi
ber of dots drawn will be EIGHT.

atomic symbol.

se electron-dot notation
D

put a dot for each valence electron around the
ot on each "side! of the sy

mbol (4 sides), then pair the dots for a1toms.;t

[AD M. 1Y

=D

it have more tl

valence electrons.
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\ o
Which "side" you draw the dots on isn't important, as long as you have the right
number-of electrons-and-the right number-of “pairs”
a o % 1
N[ - N\J- "N are all equivalent!
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| o A e know that/nitrogen exists in air as the diatomic
N molecule £ /fq
[ A4 L'
[ a
NN [« The nitrogen atoms share THREE pairs of electrons. 1
ol \] |o|e? " |is called a TRIPLE BOND
[ =T 19
YN =NV
\ few note thel triple bond:
-f\ f\+l‘\ =) +I‘\ =) ' +l oo - m ™S - f\" £ I'\"\*Iﬁl\v'\ﬂ + A/ If'\l"\\l"\ *I‘\ ' "= £
f u Ul dlUIT1S LU Sl ial Unec pdiol Ul CICUUUINNS, UITY Tidve tU T C
{ closer to one another than they would if they were|sharingone
or two pairs |of electrons. [Triple bonds have the shortest BOND
STANCE of all covalent bonds.
~| - It takes more/energy to/break a triple|bond between two atoms than it
1. ) would to/ break either a single or|/double bond between the same [two
~—_atoms, The triple bond has the largest BOND ENERGY of all three kinds
of covalentbonds:
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